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QUESTION 1

Which configuration steps are required to derive loss-adjusted kWh on a measuring component based on a loss factor
value related to a service point?

A. Configure a Service Point Characteristic Type and derivation algorithm, and then associate the algorithm to the
Measuring Component Type and the characteristic value to the service point.

B. Configure an SQI and the derivation algorithm, and then associate the algorithm to the Measuring
Component Type and SQI to the service point.

C. Configure a factor and derivation algorithm, and then associate the factor to the Measuring Component Type and the
derivation algorithm to the service point.

D. Configure a factor and derivation algorithm, and then associate both to the Measuring Component Type and service
point.

E. Configure a Service Point Characteristic Type, factor, derivation algorithm, and Service Quantity Identifier (SQI), and
then associate the SQI and derivation algorithm to the Measuring Component Type and the characteristic value to the
service point.

Correct Answer: B

QUESTION 2

A device has one or more measuring components that measure consumption, demand, or other values.
Which lists two attributes of a measuring component?

A. Channel Multiplier and Channel ID

B. Channel ID and Badge Number

C. Serial Number and Badge Number

D. Model and Serial Number

E. Manufacturer and Model

Correct Answer: C

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18187_01.pdf (8)

QUESTION 3

What happens when a device\\'s measuring components are reconfigured (a new measuring component will be read) at
a service point?

A. A device with a new configuration type is created.
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B. The original installation event is updated with the "removal” (expire old device configuration).

C. A device with a new configuration type is created. Moreover, a new installation event is created to “install* (new
device configuration).

D. The original installation event is updated with the "removal" (expire old device configuration) and a new installation
event is created to "install" (new device configuration).

E. A new installation event is created to "install" (new device configuration).

Correct Answer: D

QUESTION 4
A Service Order Orchestrator determines the steps required to complete the service.

As an example, based on the state of the service point, what does the Enable Service Orchestrator determine the
actions for?

A. Create a Device Configuration; Install a Device; Turn on the Device

B. Connect the Service Point; Install a Device; Create a Usage Subscription
C. Create a Service Point; Install a Device; Turn on the Device

D. Connect the Service Point; Install a Device; Turn on the Device

Correct Answer: C

QUESTION 5

What determines an Account\\'s Balance?

A. the sum of all the Financial Transactions linked directly to the service agreements related to the account

B. the amount recorded in the "Balance Due" field on an account

C. the logic defined in a plug-in spot on the Installations Option

D. the sum of all the balances recorded in the "Balance Due" field on each service agreement related to the account
E. the sum of all the Financial Transactions linked directly to the account

Correct Answer: E
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